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AdetRaw RMS (ppm)
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asym_bcm_target RMS (ppm)
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asym_us_avg (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution

lagr_asym_usr (ppb)
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)

]

___________
T} < ™ N
™ ™ ™ ™
— — — —

(wdd) sy

________
—
™
—

_________
o o

(92}
—

N
-

[ee]
N
i

[ ZAc14
[AZA14
Tv.Lov
0'v.9Y
V'eELOY
€'€LOY
[A7Ac14
T'eLor
0'€L9Y
€¢LoY
celoy
Telov
0'¢Lov
V'TL97
€TLOY
CTL9Y
TT.L97
0'TL97
7’6997
€699
2'6997
16991
0'6997
'899Y
€899
2’8997
T1'8991
08997
v'.99v
€'/,997
2'L99Y
1,997
0,997
'999Y
€999
2’9997
T'999%
0'9997
7’9997
€999
2’9997
T'5997
0'599Y
T'v99v
0'v99y
T'€99Y
0'€99Y
€299
2299
T'c99r
0'¢99y



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18


